
Jr
UpirutruqpnlpJnfr N 2 I

(( llpuqutnmtrJr frunqh tluluprut hurftu;trpfr llpuqu6lr LJrru Shp-'Ltrntr4lrutrtr urfur[rut
Urutrlluqrunmbq <nUq-h l1up[rBtrbpfr hrurlup UUU<-ULSnUU-<0WI-+<UqAP-19/01 twt\ ruqFn{

qtrrut2ilrutr hrupgfrutr pfuprugullunqh hurpnbplr prugrftufu L gfuruhrumrftutr trJruurlr rluu[rtr

P.Uuunwtt

Lftuutru[gnrf f[rtr'

$turuhrumnl (utrifurudnrln{fr tuu[uruqurh' lr[rtru Ltr[hmlru;utr - funhurpup
(urtu6tuudnqnr[]r rutu4rurltbp' UJrpurtrnr2 Uuhtufuurfu - nur1ur[l

nrrltr bpp hu fru[; rupqn q'
Updfttb UlhQgtutu - ntuumfurprutl
Uhbp Uilltp1utu

hurrrnbnh nruorlutr L ot^ruhumfufu trhumh rluuhtr

1 .9trrIutr rununlilulh tutuuhuZtltulh qhtn

(( Upruqru6ntntrJr .t,unqh Uqruprufu hrurftultupJt Uqurprutrf Uutrtltuqun]nhq. <n[q-h [upfpfubp[ hrurftup

UUU<-ULSnUU-<0WI-+<UQAP-19/01 twtlruqnnrl qtrrutr2ilrutr hrupgrlutr gtpugu[urpqh
tru[uurhu2rlrulht qhhn [uqfnul I (( npuf

Qur[upudtu]t
hudunn

Ub{urtrnrdp Lurluurhur2{urlhb qhtrn

1
6nr, 01 [rupq

138 000

2
l.lurqurdp, ldtupptu6

90 000

3
pnh0d 112 500

4
rlmputuLl 84 000

5 [nPh 168 000

6
hrurlfr ilfru, !p6pnril[tu 560 000

7
ururlunh ilfru, rfrtuqhntlq 1 750 000

B
pund ilhnq s00 000

9
6ru11[4h11 30 000

10
ququn 70 000

11
unfu, qlnr[u 22500

12
14upun$f 1 290 000

13
lqtuIr.u1[r, luunn 32 000

14
nuul 64 800

15 !hil 63 000



'16 LnndurLnh dudntl.l 66 s00

17
n1nn, udpn4gut!ut0 17 500

'lB n1nn, l1ur6utl 25 000

19
uphurdurl![t 6bp 70 000

20 ppr[utuhp
69 000

21
Uurnuq, ubpnLgptul[t0 950 000

22
qu0fp 1nn[ 254 000

23
rIu6nLI 111 000

24 llurp0u2nn 4uruu!u0 154 000

25
h0qUudut{un 63 000

26
gnpb0udurt[rup 27 000

27
purndn tnbuutlqft gnph[[ uUntn 25 000

28 hrudutptu6tutltttp 70 000

29
iltu14upn0 100 000

30
hurg, ilum0upuz 946 000

31
phJ 15 000

32
tu11, !hputllpft, tIu0p 19 800

33 2ruptupurluq uq[mul.1 17s 000

34
pur rlg n plurltudpu pthp0b n 440 000

35
L1n0$bm, l.1tuptudb1 275 000

36 t1bnuUnh un4u 2 500

Ctr4nrfu{h1f npn2nul. [ntrl' 3, rybrl' 0:

2. (rulmbp trhp[ru;ugpru6 h ltrhp[ru;ugnu6 druutuu[trgtrbpfr utrr[utrnriltrhpp tr qutr{h1nr r{rutph

hruugbttbpp

(( Upruqru6nrntr[r ,Iunqh Uquputr hruilru;trB[r Uquprutr]r Urutrllurqrunmbq. <n[q-h [upftptbp[ hudtup

UUU<-ULSrtUU-<nUq-q<U'naF19/01 6ru6[urqpn{ qtrutr2rlutr hrupgrftutr ptrpuguqupqhtt hur;m htr

tubpl1u;ugpb1

LI u uL rul.1 g lr rub t[rufu n rrlp
$mtr{b1nr,l utpn tr f1h[mpntrru;[rtr huugbtr

LVO LItrrug ru[ufu b4[rurqruplutt 8. Uq ru n rutr F ur r1p ru rI1 ufu 35, Mn ac.egi azaryan.Tl @ mai I. ru

<<0hnturlhnu trdhfu m>> UqC P..l-rutr rui n n fu n n btr uq h 2/ 33, pi rami d a-kvi nt@ m ai I. ru



I

3. S{ultrbp purgr[u6 .;nrprupuhgnrp hrulmnril qruhufu2r[nr1 rfruurnupmbnh un[ur.;nrp.;rutr

rluu[rb.

uuuLrul.lfrgtrbph unndhg tbp[u}ug{ru6 hur}nbpnrd un[1u bb hpru{hpn{ uiluhutrl{nt rfrruumup[PhnE

h 4p utr h ur rlur q tu rn u u [u uL n rd bt h p ur {bp[r q ru h utrgtr h p[tt :

Ctr4nrt{b1f npn2nril' Unn[ - 3, r1hil - 0

4. 3n rp uputrgn rp tlurutr u [g[r unrugup[ u& q[tp'

U u utr ut|Ir gtr bpn tr h p[ tu}u g p b t htr h h rn h1 u 1 qtr u; Jrtr ru nu2ru p\t' bn n'

Untu2urpLltltuE qht,n

/urnurLg UU(
(( rlnud

Unu2upll{ru6 q[It
/trbprunprl UU4

(( nnud

Lurfuuhur24tuthtt
qhLn

Qurrfru.tp

udLft
hurilupp

LItu utr ur ! gfr ruL {urtr n LtlP

1 U/O ULrugru\uL brfruqruPlutr 138 000 138 000 138 000

2 LVO Utr u gru [uL bfiiruqtu P,; rutr 90 000 90 000 90 000

3 tVO Lltru.rguluL bqJruqupluL 112 500 112 500

112 500
<<'l [rprurlf 4u k{frbur>>U'lC 83333.33 100 000

4 Wt LIL Lugu[Lutr bqJrurqtu Plurtr 84 000 84 000

84 000
<<alI Pru {[r4u trtlfrL rn>>U al C 58333.33 70 000

5 tJ/3 l.ILugurQutr bqlruqtuplutt 168 000 168 000

168 000
<<'I[rprurlfr4u trrllrtrrn>>UalC L05 000 126 000

6 U/O Utrugruqrutr bqhuqruPluh 560 000 s60 000 560 000

7 U/O UtrugtuquL bt1|r uqruPlutt 1 750 000 1 750 000 1 750 000

B lIlO Utrug tullrutr b{tuqtuplrutr 500 000 s00 000 500 000

I LVO ULugtulufu bqfrruquPlutr 30 000 30 000 30 000

10 tVO Utru gtullutr brfrruquPlufu 70 000 70 000 70 000

11 U/e Ubrugu[ufu br$uqruPlurtr 22 500 22500 22 500

12 tVO Utrrugurl'1rufu bqlrruquPlutt 290 000 290 000 290 000

't3 tVO Utrrugru\ut b4luuqruP;urtu 32 000 32 000 32 000

60 000 60 000

60 000

14 u/0 ULurgulutr bqJrruqurplurtr

<<al ]r pru rlfr4u 9{lrbm>>U'l C 45 000 54 000

15 LVO ULugtulrutr bqfrurqruplutt 63 000 63 000 63 000

16 W0 W u.rg urtluuL bqlr urqur Pltutr 66 500 66 500

66 500
<<al[rpu rlfr4u trtlfitrm>>U'lC 46666.67 56 000

17 U/0 ULurgrulutr bqJrurqupprtr 17 500 17 500



U/O Utrrugrul4ufu brlJruqruplutr

19 W0 LlLnrgnrllurL bqlruquplutr 70 000 70 000

70 000<<T l[pru rI[qru tr{frtrm>>UalC 52 500 63 000

20 69 000

21 <<al [p ru rlJr4ru trtlfrtr ur>>U al C 746666.67 896 000 960 000

22 264 000

23 111 000

24 154 000

25 t1/0 l.IltugutluL bqf urqu.rplurtt 63 000 63 000

63 000<<al frpu rffrr1u trrlfrfu m>>UQC 40833.33 49 000

26 U/e Ufu u gru [rutr bfliruqrup;tutr 27 000 27 000 27 000

27 tVe Utrugru [ruL b4fruqrupltufu 25 000 2s 000 25 000

28 tJ/t ULurgulurtr bqJrurquplu.rlr 70 000 70 000

70 000<<al [r p u tfft 4ru ur{frh rn>>U'l C 52 500 63 000

29 Wt tJtrurgulutr bqJrruqurplutr 100 000 100 000

100 000<<al I p ru d[t4u t'r rlfh rn>>U'l C 83333.33 100 000

30 LVO Utrrug rulufu bflrruqup;rutt 946 000 946 000 946 000

31 tVO Ufu ugruluL bqfruqtuplutt 16 000 16 000 16 000

32 lVe ULrug rulufu b{truqruplutr 19 800 19 800 19 800

33 LVO ULugurQut brfrruqup;urtt 175 000 175 000 175 000

34 tl/3 l.ILugu!LuL bqfruquplurlt 440 000 440 000

440 000<<alI p u f[4ru tllfrfu rn>>UclC 300 000 360 000

35 tl/0 l.IL rug urlurL bqJr uqu plutr 275 000 275 000

275 000<<al [r p ru rllr 4u tr {lrL m>>U al C 218750 262500

36 IVO Utrurgru[tufu b{rruqup;utt 2 s00 2 500 2 s00

Ebpntu{b1f npn2nuf' \nq[ -3, ryhtl - 0

5 *bnultubfh [wuhtu ll o\bbuqpnrytutt quhuttlttbtth htutltuduttt hwttdtuwdnqnill nnn2bg.



. U/a lrfuugrulrutr br1fiuquplrutr-h' 1,2,6,7,8,9,10,17,12,73,15,18,2G,21,30,31,32.33,36

lurfr ruprudfrlLbp [r h u rlu p,
. " 

4'lhfru,Ih+ru trrl[rtrrn > UqC -h'3,4,5, 14,16,17,19,27,25,28,29,34,351urfrruprudtrtthp1r hurilrup:
. Q ru rlr u p udfrtrtr bp 20,22,23,24 h u.; m ru p ru p h 1 1[ u; ur g u6:

5.2 Qtruhumnn hutritrrudnlnr[Jr trfruup hbmuiqbl rl[rtr1h 3 /hphp/ u2[ururnutrpu1htr opn{' runugtrtr
rnbrl qpruqhgpru6 rftuutru\[rgtrhnhg qruhrutr2hl trbplulrugtrhl hpu{bpn{ L hrulmnr{ uruhilrutr{ud
npu!rurlnprlutr lurfrnpn2frttrhnn hfrrltrur{npn11 rfruurnuplpbFn, Lr "clfunrrltrbp[r qnptptpruglr
lluqfu[bpqduL" qunqh 43-n+ Ubmh 3-pr1 htrpu[brnh hrurftuhrultr (( trruntu{upnrplutr runptrpbp
clbmru[utr b[rurlnrrnbfup qnrlJrrnbJrg [urmuphl hupgnrf' l-frtr rnbrl qprurlbgpu6 rluutruqhgtbplt
h ur p I u; [L q ru p m ru {n p n rp1 n rbtr b p [r r[bp ru p hp; u 1:

5 .3 9trruhumn[ hufuitrurdn[n{h hru2nprl trJrurnp hpu{frpb1unr.;tr upirutruqpnrpgrutr 5,2 llhmnrd tr2{ru6
rfruurnup[pbpp umutrulnrg hbmn hrugnpry ru2[urumrutrpuJhfu opp drurtp l0:45-tr:

CL4nrt{b1f npn2nul. l{nr1,I' 3, rlhrl' 0:

$h ru h ru rn n 11 h rutritr u dn r1n rllr fu ru [u u qru h'
h utbtr rudn r1n {[r utr 4ur iltr b p'

$trnrilhbpp hufur[upqn11'

Ufrtru U{hrnJru;utr
Ufrputrnr2 Uruhu l,gutr

Upffttub qlhquutr
Uhhp Ud[p1utr
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